NCL Clyde Presort Sale - April 12, 2022. Tuesday, April 12, 2022 -- 09:00 AM

Pre-Sort

This is a live broadcast of a pre-sort sale out of NCL Clyde, AB. For more information call Jeannie at (780) 554-4939

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	13	7	STRS	CHAR	661	4624	CHAR
2	2	15	3	STRS	CHAR	539	1616	CHAR
3	3	17	4	STRS	CHAR	475	1901	CHAR
4	4	20	15	STRS	BLK	736	11040	BLK
5	5	22	15	STRS	BLK	668	10024	BLK
6	6	24	19	STRS	BLK	613	11654	BLK
7	7	26	16	STRS	BLK	553	8850	BLK
8	8	28	21	STRS	BLK	492	10328	BLK
9	9	21	11	STRS	BLK	425	4680	BLK
10	10	A7	6	STRS	ZIEG	1014	6086	ZIEGLER
11	11	18W	22	STRS	ROSE	953	20976	ROSENFIELD
12	12	11W	38	STRS	ROSE	857	32554	ROSENFIELD
13	13	13W	30	STRS	ROSE	763	22895	ROSENFIELD
14	14	30	9	STRS	REDX	729	6564	REDX
15	15	34	5	STRS	REDX	626	3132	REDX
16	16	36	6	STRS	REDX	553	3316	REDX
17	17	40	4	STRS	SIMM	723	2893	SIMM
18	18	44	3	STRS	SIMM	635	1906	SIMM
19	19	50	8	STRS	ANGU	730	5836	ANGU
20	20	52	14	STRS	ANGU	668	9358	ANGU
21	21	54	21	STRS	ANGU	608	12762	ANGU
22	22	56	15	STRS	ANGU	549	8241	ANGU
23	23	58	13	STRS	ANGU	484	6298	ANGU
24	24	27	14	STRS	ANGU	416	5817	ANGU
25	25	A4	5	STRS	ANGX	927	4636	ANGX
26	26	A6	28	STRS	ANGX	841	23556	ANGX
27	27	72	7	STRS	ANGX	784	5490	ANGX
28	28	3	9	STRS	ANGX	361	3246	ANGX
29	29	57B	3	STRS	EXOT	1099	3298	EXOT
30	30	29	3	STRS	EXOT	926	2779	EXOT
31	31	31	13	STRS	EXOT	853	11094	EXOT
32	32	60	8	STRS	EXOT	789	6312	EXOT
33	33	62	2	STRS	EXOT	768	1536	EXOT
34	34	64	1	STRS	EXOT	608	608	EXOT

35	35	33	3	STRS	EXOT	494	1483	EXOT
36	36	37B		STRS	EXOT	929	929	EXOT
37	37	C2A		STRS	BRIT	618	618	BRIT
38	38	49B	1	STRS	MXD	866	866	MXD
39	39	53		STRS	MXD	682	682	MXD
40	40	55		STRS	MXD	544	544	MXD
41	41	49A		STRS	MXD	446	1337	MXD
42	42	82B		STRS	MXBY	279	1115	MIX BABY
43	43	3B		BULL	ANGX	747	1494	ANGX
44	44	C7	3	BULL	ANGX	663	1990	ANGX
45	45	C9	4	BULL	ANGX	525	2100	ANGX
46	46	C11		BULL	ANGX	467	2337	ANGX
47	47	74B	5	BULL	EXOT	886	4432	EXOT
48	48	69	1	BULL	EXOT	339	339	EXOT
49	49	78		BULL	MXD	824	824	MXD
50	50	82		BULL	MXD	696	696	MXD
51	51	A2		BULL	MXD	446	446	MXD
52	52	956	11	HFRS	CHAR	736	8092	CHAR
53	53	255	4	HFRS	CHAR	661	2645	CHAR
54	54	253	8	HFRS	CHAR	547	4377	CHAR
55	55	252	5	HFRS	CHAR	503	2517	CHAR
56	56	257	3	HFRS	CHAR	401	1202	CHAR
57	57	A14	20	HFRS	BLK	728	14569	BLK
58	58	248	11	HFRS	BLK	684	7528	BLK
59	59	A15	24	HFRS	BLK	614	14726	BLK
60	60	246	21	HFRS	BLK	544	11425	BLK
61	61	245	3	HFRS	BLK	465	1396	BLK
62	62	A23	18	HFRS	NELS	644	11601	NELSON (BMX)
63	63	A26	16	HFRS	NELS	618	9894	NELSON (RMX)
64	64	C13	9	HFRS	REDX	745	6708	REDX
65	65	C15	11	HFRS	REDX	688	7573	REDX
66	66	C19	11	HFRS	REDX	558	6139	REDX
67	67	244	5	HFRS	ANGU	775	3874	ANGU
68	68	241	14	HFRS	ANGU	684	9582	ANGU
69	69	142	10	HFRS	ANGU	602	6019	ANGU
70	70	141	5	HFRS	ANGU	557	2784	ANGU
71	71	140	5	HFRS	ANGU	499	2493	ANGU
72	72	131	11	HFRS	ANGX	916	10080	ANGX
73	73	C34	6	HFRS	ANGX	915	5488	ANGX
74	74	126	2	HFRS	ANGX	840	1679	ANGX
75	75	C8	12	HFRS	ANGX	430	5162	ANGX
76	76	243	18	HFRS	ANGX	352	6334	ANGX
77	77	265	14	HFRS	EXOT	989	13845	EXOT
78	78	C22	14	HFRS	EXOT	856	11988	EXOT

								+
79	79	C20	17	HFRS	EXOT	792	13456	EXOT
80	80	C18	2	HFRS	EXOT	742	1484	EXOT
81	81	C16	8	HFRS	EXOT	639	5112	EXOT
82	82	C14	5	HFRS	EXOT	554	2772	EXOT
83	83	C12	2	HFRS	EXOT	500	999	EXOT
84	84	129	1	HFRS	EXOT	399	399	EXOT
85	85	256	2	HFRS	EXOT	374	747	EXOT
86	86	C37	3	HFRS	EXOT	724	2171	EXOT
87	87	264	1	HFRS	BRIT	708	708	BRIT
88	88	261	12	HFRS	BRIT	548	6573	BRIT
89	89	960	5	HFRS	MXD	824	4119	MXD
90	90	123	1	HFRS	MXD	710	710	
91	91	266	1	HFRS	MXD	559	559	MXD
92	100	A20	23	HFRS	EVAN	903	20758	EVANS (RMX)
93	101	A18	12	HFRS	EVAN	887	10645	EVANS (BLK)
94	102	A30	5	HFRS	EVAN	841	4204	EVANS (BMX)
95	103	A22	7	HFRS	IVEY	822	5752	IVEY (RED)
96	104	A34	9	HFRS	IVEY	728	6548	IVEY (RMX)
97	105	A24	10	HFRS	NELS	720	7197	NELSON (BLK)
98	106	A25	8	HFRS	NELS	720	5762	NELSON (RED)
99	107	A36	7	HFRS	BROE	902	6311	BROEKMAN (RED)
100	108	A17	8	HFRS	ANDE	917	7333	ANDERSEN (RMX)
101	109	A19	15	HFRS	ANDE	797	11960	ANDERSEN (RMX)
102	110	A28	5	HFRS	PETR	923	4617	PETRYK (RED)
103	111	A11	6	HFRS	KT	944	5663	K&T (RMX)
104	112	A9	11	HFRS	KT	891	9797	K&T (BMX)
105	113	A13	16	HFRS	KT	852	13638	K&T (RMX)
106	114	250	14	HFRS	EAST	900	12601	BLK
107	115	952	25	HFRS	EAST	788	19691	BLK
108	116	C24	8	HFRS	WEST	879	7030	RED
109	117	240	11	HFRS	WEST	790	8687	RED
110	118	ZA6	1	STRS	ANGX	869	869	ANGX
111	119	Z29	1	STRS	EXOT	910	910	EXOT
112	120	Z62	1	STRS	EXOT	776	776	EXOT
113	121	Z64	1	STRS	EXOT	651	651	EXOT
114	122	ZC2A	2	STRS	BRIT	593	1186	BRIT
115	123	ZC11	1	BULL	ANGX	495	495	ANGX
116	124	Z245	1	HFRS	BLK	466	466	BLK
117	125	Z141	1	HFRS	ANGU	557	557	ANGU
118	126	ZC18	1	HFRS	EXOT	689	689	EXOT
119	127	ZC12	1	HFRS	EXOT	500	500	EXOT
120	128	Z960	1	HFRS	MXD	813	813	MXD
121	129	T905	1	STRS	TAG	756	756	

122	130	T27	1	HFRS	TAG	620	620	
123	131	T28	1	HFRS	TAG	418	418	
124	132	T22	1	HFRS	TAG	582	582	
125	133	T24	1	HFRS	TAG	550	550	
126	134	T25	1	HFRS	TAG	820	820	
127	135	T23	1	HFRS	TAG	524	524	
128	136	T26	1	HFRS	TAG	762	762	
129	137	ZA18	1	HFRS	EVAN	820	820	EVANS (BLK)
130	138	ZA30	1	HFRS	EVAN	830	830	EVANS (BMX)
131	139	ZA11	1	HFRS	KT	865	865	K&T (RMX)
Total	Head	: 1010						

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	13	Consignor:	CHAR
Head:	7	Average Weight:	661
Color:		Total Weight:	4624
Sex:	STRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	2	Lot #:	2
Pen #:	15	Consignor:	CHAR
Head:	3	Average Weight:	539
Color:		Total Weight:	1616
Sex:	STRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	3	Lot #:	3
Pen #:	17	Consignor:	CHAR
Head:	4	Average Weight:	475
Color:		Total Weight:	1901
Sex:	STRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	4	Lot #:	4
Pen #:	20	Consignor:	BLK
Head:	15	Average Weight:	736
Color:		Total Weight:	11040
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	5	Lot #:	5
Pen #:	22	Consignor:	BLK
Head:	15	Average Weight:	668
Color:		Total Weight:	10024
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	6	Lot #:	6
Pen #:	24	Consignor:	BLK
Head:	19	Average Weight:	613
Color:		Total Weight:	11654
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	7	Lot #:	7
Pen #:	26	Consignor:	BLK
Head:	16	Average Weight:	553
Color:		Total Weight:	8850
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	8	Lot #:	8

Pen #:	28	Consignor:	BLK
Head:	21	Average Weight:	492
Color:		Total Weight:	10328
Sex:	STRS	Breed:	BLK
Lot Detail Information			
Sequence #:	9	Lot #:	9
Pen #:	21	Consignor:	BLK
Head:	11	Average Weight:	425
Color:		Total Weight:	4680
Sex:	STRS	Breed:	BLK
ot Detail Information			
Sequence #:	10	Lot #:	10
Pen #:	A7	Consignor:	ZIEGLER
Head:	6	Average Weight:	1014
Color:		Total Weight:	6086
Sex:	STRS	Breed:	ZIEG
ot Detail Information			
Sequence #:	11	Lot #:	11
Pen #:	18W	Consignor:	ROSENFIELD
Head:	22	Average Weight:	953
Color:		Total Weight:	20976
Sex:	STRS	Breed:	ROSE
ot Detail Information			
Sequence #:	12	Lot #:	12
Pen #:	11W	Consignor:	ROSENFIELD
Head:	38	Average Weight:	857
Color:		Total Weight:	32554
Sex:	STRS	Breed:	ROSE
Lot Detail Information			
Sequence #:	13	Lot #:	13
Pen #:	13W	Consignor:	ROSENFIELD
Head:	30	Average Weight:	763
Color:		Total Weight:	22895
Sex:	STRS	Breed:	ROSE
Lot Detail Information			
Sequence #:	14	Lot #:	14
Pen #:	30	Consignor:	REDX
Head:	9	Average Weight:	729
Color:		Total Weight:	6564
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	15	Lot #:	15
Pen #:	34	Consignor:	REDX
•	34 5	Consignor: Average Weight:	REDX 626

Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	16	Lot #:	16
Pen #:	36	Consignor:	REDX
Head:	6	Average Weight:	553
Color:		Total Weight:	3316
Sex:	STRS	Breed:	REDX
Lot Detail Information			
Sequence #:	17	Lot #:	17
Pen #:	40	Consignor:	SIMM
Head:	4	Average Weight:	723
Color:		Total Weight:	2893
Sex:	STRS	Breed:	SIMM
Lot Detail Information			
Sequence #:	18	Lot #:	18
Pen #:	44	Consignor:	SIMM
Head:	3	Average Weight:	635
Color:		Total Weight:	1906
Sex:	STRS	Breed:	SIMM
Lot Detail Information			
Sequence #:	19	Lot #:	19
Pen #:	50	Consignor:	ANGU
Head:	8	Average Weight:	730
Color:		Total Weight:	5836
Sex:	STRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	20	Lot #:	20
Pen #:	52	Consignor:	ANGU
Head:	14	Average Weight:	668
Color:		Total Weight:	9358
Sex:	STRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	21	Lot #:	21
Pen #:	54	Consignor:	ANGU
Head:	21	Average Weight:	608
Color:		Total Weight:	12762
Sex:	STRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	22	Lot #:	22
Pen #:	56	Consignor:	ANGU
Head:	15	Average Weight:	549
Color:		Total Weight:	8241
Sex:	STRS	Breed:	ANGU
Lot Detail Information			

Sequence #:	23	Lot #:	23
Pen #:	58	Consignor:	ANGU
Head:	13	Average Weight:	484
Color:		Total Weight:	6298
Sex:	STRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	24	Lot #:	24
Pen #:	27	Consignor:	ANGU
Head:	14	Average Weight:	416
Color:		Total Weight:	5817
Sex:	STRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	25	Lot #:	25
Pen #:	A4	Consignor:	ANGX
Head:	5	Average Weight:	927
Color:		Total Weight:	4636
Sex:	STRS	Breed:	ANGX
Lot Detail Information			
Sequence #:	26	Lot #:	26
Pen #:	A6	Consignor:	ANGX
Head:	28	Average Weight:	841
Color:		Total Weight:	23556
Sex:	STRS	Breed:	ANGX
Lot Detail Information			
Sequence #:	27	Lot #:	27
Pen #:	72	Consignor:	ANGX
Head:	7	Average Weight:	784
Color:		Total Weight:	5490
_			5-150
Sex:	STRS	Breed:	ANGX
	STRS		
Lot Detail Information	28		
Lot Detail Information Sequence #:		Breed:	ANGX
Lot Detail Information Sequence #: Pen #:	28	Breed: Lot #:	ANGX 28
Lot Detail Information Sequence #: Pen #: Head:	28 3	Breed: Lot #: Consignor:	ANGX 28 ANGX
Lot Detail Information Sequence #: Pen #: Head: Color:	28 3	Breed: Lot #: Consignor: Average Weight:	ANGX 28 ANGX 361
Detail Information Sequence #: Pen #: Head: Color: Sex:	28 3 9	Breed: Lot #: Consignor: Average Weight: Total Weight:	ANGX 28 ANGX 361 3246
Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information	28 3 9	Breed: Lot #: Consignor: Average Weight: Total Weight:	ANGX 28 ANGX 361 3246
Lot Detail Information Gequence #: Pen #: Head: Color: Gex: Lot Detail Information Gequence #:	28 3 9 STRS	Lot #: Consignor: Average Weight: Total Weight: Breed:	28 ANGX 361 3246 ANGX
Detail Information Gequence #: Pen #: Head: Color: Gex: Lot Detail Information Gequence #: Pen #:	28 3 9 STRS	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #:	28 ANGX 361 3246 ANGX
Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Head:	28 3 9 STRS	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #: Consignor:	28 ANGX 361 3246 ANGX
Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Head: Color:	28 3 9 STRS	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #: Consignor: Average Weight:	28 ANGX 361 3246 ANGX 29 EXOT 1099
Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Color: Sex:	28 3 9 STRS 29 57B 3	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #: Consignor: Average Weight: Total Weight:	28 ANGX 361 3246 ANGX 29 EXOT 1099 3298
Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information	28 3 9 STRS 29 57B 3	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #: Consignor: Average Weight: Total Weight: Breed:	28 ANGX 361 3246 ANGX 29 EXOT 1099 3298
Sex: Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Head: Color: Sex: Lot Detail Information Sequence #: Pen #: Pen #: Lot Detail Information	28 3 9 STRS	Lot #: Consignor: Average Weight: Total Weight: Breed: Lot #: Consignor: Average Weight: Total Weight:	28 ANGX 361 3246 ANGX 29 EXOT 1099 3298 EXOT

Color:		Total Weight:	2779
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	31	Lot #:	31
Pen #:	31	Consignor:	ЕХОТ
Head:	13	Average Weight:	853
Color:		Total Weight:	11094
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	32	Lot #:	32
Pen #:	60	Consignor:	EXOT
Head:	8	Average Weight:	789
Color:		Total Weight:	6312
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	33	Lot #:	33
Pen #:	62	Consignor:	EXOT
Head:	2	Average Weight:	768
Color:		Total Weight:	1536
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	34	Lot #:	34
Pen #:	64	Consignor:	EXOT
Head:	1	Average Weight:	608
Color:		Total Weight:	608
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	35	Lot #:	35
Pen #:	33	Consignor:	EXOT
Head:	3	Average Weight:	494
Color:		Total Weight:	1483
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	36	Lot #:	36
Pen #:	37B	Consignor:	EXOT
Head:	1	Average Weight:	929
Color:		Total Weight:	929
Sex:	STRS	Breed:	EXOT
ot Detail Information			
Sequence #:	37	Lot #:	37
Pen #:	C2A	Consignor:	BRIT
Head:	1	Average Weight:	618
Color:			
		Total Weight:	618

Lot Detail Information Lot #: 38 Sequence #: 38 Pen #: 49B Consignor: **MXD** 866 Head: 1 Average Weight: Color: Total Weight: 866 MXD Sex: **STRS** Breed: **Lot Detail Information** Sequence #: 39 Lot #: 39 Pen #: 53 **MXD** Consignor: Head: 682 Average Weight: 1 Total Weight: 682 Color: Sex: **STRS** Breed: **MXD Lot Detail Information** 40 Lot #: 40 Sequence #: Pen #: 55 Consignor: **MXD** Head: 544 1 Average Weight: Color: Total Weight: 544 Breed: MXD Sex: **STRS Lot Detail Information** 41 Lot #: 41 Sequence #: Pen #: 49A **MXD** Consignor: 446 Head: 3 Average Weight: Color: Total Weight: 1337 Sex: **STRS** Breed: MXD **Lot Detail Information** Sequence #: 42 Lot #: 42 82B **MIX BABY** Pen #: Consignor: Head: 4 Average Weight: 279 Color: Total Weight: 1115 Sex: Breed: **MXBY STRS Lot Detail Information** Lot #: Sequence #: 43 43 Pen #: **3B** Consignor: **ANGX** Head: 2 Average Weight: 747 Color: Total Weight: 1494 Sex: **BULL** Breed: **ANGX Lot Detail Information** Sequence #: 44 Lot #: 44 **C7 ANGX** Pen #: Consignor: Head: Average Weight: 663 3 1990 Color: Total Weight: Sex: **BULL** Breed: **ANGX**

Lot #:

45

Lot Detail Information

45

Sequence #:

Pen #:	C9	Consignor:	ANGX
Head:	4	Average Weight:	525
Color:	-	Total Weight:	2100
Sex:	BULL	Breed:	ANGX
Lot Detail Information	_		
Sequence #:	46	Lot #:	46
Pen #:	C11	Consignor:	ANGX
Head:	5	Average Weight:	467
Color:		Total Weight:	2337
Sex:	BULL	Breed:	ANGX
Lot Detail Information			
Sequence #:	47	Lot #:	47
Pen #:	74B	Consignor:	EXOT
Head:	5	Average Weight:	886
Color:		Total Weight:	4432
Sex:	BULL	Breed:	EXOT
Lot Detail Information	-		
Sequence #:	48	Lot #:	48
Pen #:	69	Consignor:	EXOT
Head:	1	Average Weight:	339
Color:		Total Weight:	339
Sex:	BULL	Breed:	EXOT
Lot Detail Information			
Sequence #:	49	Lot #:	49
Pen #:	78	Consignor:	MXD
Head:	1	Average Weight:	824
Color:		Total Weight:	824
Sex:	BULL	Breed:	MXD
Lot Detail Information			
Sequence #:	50	Lot #:	50
Pen #:	82	Consignor:	MXD
Head:	1	Average Weight:	696
Color:		Total Weight:	696
Sex:	BULL	Breed:	MXD
Lot Detail Information			
Sequence #:	51	Lot #:	51
Pen #:	A2	Consignor:	MXD
Head:	1	Average Weight:	446
Color:		Total Weight:	446
Sex:	BULL	Breed:	MXD
Lot Detail Information			
Sequence #:	52	Lot #:	52
Pen #:	956	Consignor:	CHAR
Head:	11	Average Weight:	736
Color:		Total Weight:	8092

Sex:	HFRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	53	Lot #:	53
Pen #:	255	Consignor:	CHAR
Head:	4	Average Weight:	661
Color:		Total Weight:	2645
Sex:	HFRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	54	Lot #:	54
Pen #:	253	Consignor:	CHAR
Head:	8	Average Weight:	547
Color:		Total Weight:	4377
Sex:	HFRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	55	Lot #:	55
Pen #:	252	Consignor:	CHAR
Head:	5	Average Weight:	503
Color:		Total Weight:	2517
Sex:	HFRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	56	Lot #:	56
Pen #:	257	Consignor:	CHAR
Head:	3	Average Weight:	401
Color:		Total Weight:	1202
Sex:	HFRS	Breed:	CHAR
Lot Detail Information			
Sequence #:	57	Lot #:	57
Pen #:	A14	Consignor:	BLK
Head:	20	Average Weight:	728
Color:		Total Weight:	14569
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	58	Lot #:	58
Pen #:	248	Consignor:	BLK
Head:	11	Average Weight:	684
Color:		Total Weight:	7528
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	59	Lot #:	59
Pen #:	A15	Consignor:	BLK
Head:	24	Average Weight:	614
Color:		Total Weight:	14726
Sex:	HFRS	Breed:	BLK
Lot Detail Information			

Sequence #:	60	Lot #:	60
Pen #:	246	Consignor:	BLK
Head:	21	Average Weight:	544
Color:		Total Weight:	11425
Sex:	HFRS	Breed:	ВЬК
Lot Detail Information			
Sequence #:	61	Lot #:	61
Pen #:	245	Consignor:	ВLК
Head:	3	Average Weight:	465
Color:		Total Weight:	1396
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	62	Lot #:	62
Pen #:	A23	Consignor:	NELSON (BMX)
Head:	18	Average Weight:	644
Color:		Total Weight:	11601
Sex:	HFRS	Breed:	NELS
Lot Detail Information			
Sequence #:	63	Lot #:	63
Pen #:	A26	Consignor:	NELSON (RMX)
Head:	16	Average Weight:	618
Color:		Total Weight:	9894
Sex:	HFRS	Breed:	NELS
Lot Detail Information			
Sequence #:	64	Lot #:	64
Pen #:	C13	Consignor:	REDX
Head:	9	Average Weight:	745
Color:		Total Weight:	6708
Sex:	HFRS	Breed:	REDX
Lot Detail Information			
Sequence #:	65	Lot #:	65
Pen #:	C15	Consignor:	REDX
Head:	11	Average Weight:	688
Color:		Total Weight:	7573
Sex:	HFRS	Breed:	REDX
Lot Detail Information			
Sequence #:	66	Lot #:	66
Pen #:	C19	Consignor:	REDX
Head:	11	Average Weight:	558
Color:		Total Weight:	6139
Sex:	HFRS	Breed:	REDX
Lot Detail Information			
Sequence #:	67	Lot #:	67
Sequence #: Pen #:	67 244	Lot #: Consignor:	67 ANGU

Color:		Total Weight:	3874
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	68	Lot #:	68
Pen #:	241	Consignor:	ANGU
Head:	14	Average Weight:	684
Color:		Total Weight:	9582
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	69	Lot #:	69
Pen #:	142	Consignor:	ANGU
Head:	10	Average Weight:	602
Color:		Total Weight:	6019
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	70	Lot #:	70
Pen #:	141	Consignor:	ANGU
Head:	5	Average Weight:	557
Color:		Total Weight:	2784
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	71	Lot #:	71
Pen #:	140	Consignor:	ANGU
Head:	5	Average Weight:	499
Color:		Total Weight:	2493
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	72	Lot #:	72
Pen #:	131	Consignor:	ANGX
Head:	11	Average Weight:	916
Color:		Total Weight:	10080
Sex:	HFRS	Breed:	ANGX
Lot Detail Information			
Sequence #:	73	Lot #:	73
Pen #:	C34	Consignor:	ANGX
Head:	6	Average Weight:	915
Color:		Total Weight:	5488
Sex:	HFRS	Breed:	ANGX
Lot Detail Information			
Sequence #:	74	Lot #:	74
Pen #:	126	Consignor:	ANGX
Head:	2	Average Weight:	840
Color:		Total Weight:	1679
Sex:	HFRS	Breed:	ANGX

Lot Detail Information Lot #: 75 Sequence #: **75** Pen #: **C8** Consignor: **ANGX** Head: Average Weight: 430 12 Color: Total Weight: 5162 **HFRS** Sex: Breed: **ANGX Lot Detail Information** Sequence #: 76 Lot #: 76 Pen #: 243 **ANGX** Consignor: Head: 352 18 Average Weight: Total Weight: 6334 Color: Breed: Sex: **HFRS ANGX Lot Detail Information 77 77** Sequence #: Lot #: Pen #: 265 Consignor: **EXOT** Head: 14 Average Weight: 989 Color: Total Weight: 13845 Sex: **HFRS** Breed: **EXOT Lot Detail Information** Sequence #: **78** Lot #: 78 Pen #: **C22 EXOT** Consignor: Head: 856 14 Average Weight: Color: Total Weight: 11988 Sex: **HFRS** Breed: **EXOT Lot Detail Information** Sequence #: 79 Lot #: **79** Pen #: **C20** Consignor: **EXOT** Head: **17** Average Weight: 792 Color: Total Weight: 13456 Sex: **HFRS** Breed: **EXOT Lot Detail Information** 80 Lot #: Sequence #: 80 C18 Pen #: Consignor: **EXOT** Head: 2 Average Weight: 742 Color: Total Weight: 1484

Sex:	HFRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	81	Lot #:	81
Pen #:	C16	Consignor:	EXOT
Head:	8	Average Weight:	639
Color:		Total Weight:	5112
Sex:	HFRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	82	Lot #:	82

Pen #:	C14	Consignor:	ЕХОТ
Head:	5	Average Weight:	554
Color:	3	Total Weight:	2772
Sex:	HFRS	Breed:	EXOT
Lot Detail Information	III KS	Breed.	LAGI
Sequence #:	83	Lot #:	83
Pen #:	63 C12	Consignor:	EXOT
Head:	2	Average Weight:	500
Color:	2		999
	HEDE	Total Weight:	
Sex:	HFRS	Breed:	EXOT
Lot Detail Information		hab #a	
Sequence #:	84	Lot #:	84
Pen #:	129	Consignor:	EXOT
Head:	1	Average Weight:	399
Color:		Total Weight:	399
Sex:	HFRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	85	Lot #:	85
Pen #:	256	Consignor:	EXOT
Head:	2	Average Weight:	374
Color:		Total Weight:	747
Sex:	HFRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	86	Lot #:	86
Pen #:	C37	Consignor:	EXOT
Head:	3	Average Weight:	724
Color:		Total Weight:	2171
Sex:	HFRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	87	Lot #:	87
Pen #:	264	Consignor:	BRIT
Head:	1	Average Weight:	708
Color:		Total Weight:	708
Sex:	HFRS	Breed:	BRIT
Lot Detail Information			
Sequence #:	88	Lot #:	88
Pen #:	261	Consignor:	BRIT
Head:	12	Average Weight:	548
Color:		Total Weight:	6573
COIOT.			
Sex:	HFRS	Breed:	BRIT
	HFRS	Breed:	BRIT
Sex:	HFRS 89	Breed: Lot #:	BRIT 89
Sex: Lot Detail Information			
Sex: Lot Detail Information Sequence #:	89	Lot #:	89

Sex:	HFRS	Breed:	MXD	
Lot Detail Information				
Sequence #:	90	Lot #:	90	
Pen #:	123	Consignor:		
Head:	1	Average Weight:	710	
Color:		Total Weight:	710	
Sex:	HFRS	Breed:	MXD	
Lot Detail Information				
Sequence #:	91	Lot #:	91	
Pen #:	266	Consignor:	MXD	
Head:	1	Average Weight:	559	
Color:		Total Weight:	559	
Sex:	HFRS	Breed:	MXD	
Lot Detail Information				
Sequence #:	92	Lot #:	100	
Pen #:	A20	Consignor:	EVANS (RMX)	
Head:	23	Average Weight:	903	
Color:		Total Weight:	20758	
Sex:	HFRS	Breed:	EVAN	
Lot Detail Information				
Sequence #:	93	Lot #:	101	
Pen #:	A18	Consignor:	EVANS (BLK)	
Head:	12	Average Weight:	887	
Color:		Total Weight:	10645	
Sex:	HFRS	Breed:	EVAN	
Lot Detail Information				
Sequence #:	94	Lot #:	102	
Pen #:	A30	Consignor:	EVANS (BMX)	
Head:	5	Average Weight:	841	
Color:		Total Weight:	4204	
Sex:	HFRS	Breed:	EVAN	
Lot Detail Information				
Sequence #:	95	Lot #:	103	
Pen #:	A22	Consignor:	IVEY (RED)	
Head:	7	Average Weight:	822	
Color:		Total Weight:	5752	
Sex:	HFRS	Breed:	IVEY	
Lot Detail Information				
Sequence #:	96	Lot #:	104	
Pen #:	A34	Consignor:	IVEY (RMX)	
Head:	9	Average Weight:	728	
Color:		Total Weight:	6548	
Sex:	HFRS	Breed:	IVEY	
Lot Detail Information				

Sequence #:	97	Lot #:	105
Pen #:	A24	Consignor:	NELSON (BLK)
Head:	10	Average Weight:	720
Color:		Total Weight:	7197
Sex:	HFRS	Breed:	NELS
Lot Detail Informa			
Sequence #:	98	Lot #:	106
Pen #:	A25	Consignor:	NELSON (RED)
Head:	8	Average Weight:	720
Color:		Total Weight:	5762
Sex:	HFRS	Breed:	NELS
Lot Detail Informa	ntion		
Sequence #:	99	Lot #:	107
Pen #:	A36	Consignor:	BROEKMAN (RED)
Head:	7	Average Weight:	902
Color:		Total Weight:	6311
Sex:	HFRS	Breed:	BROE
Lot Detail Informa	ation		
Sequence #:	100	Lot #:	108
Pen #:	A17	Consignor:	ANDERSEN (RMX)
Head:	8	Average Weight:	917
Color:		Total Weight:	7333
Sex:	HFRS	Breed:	ANDE
Lot Detail Informa	ntion		
Sequence #:	101	Lot #:	109
Pen #:	A19	Consignor:	ANDERSEN (RMX)
Head:	15	Average Weight:	797
Color:		Total Weight:	11960
Sex:	HFRS	Breed:	ANDE
Lot Detail Informa	ation		
Sequence #:	102	Lot #:	110
Pen #:	A28	Consignor:	PETRYK (RED)
Head:	5	Average Weight:	923
Color:		Total Weight:	4617
Sex:	HFRS	Breed:	PETR
Lot Detail Informa	ntion		
Sequence #:	103	Lot #:	111
Pen #:	A11	Consignor:	K&T (RMX)
Head:	6	Average Weight:	944
Color:		Total Weight:	5663
Sex:	HFRS	Breed:	кт
Lot Detail Informa			
Sequence #:	104	Lot #:	112
Pen #:	А9		
		_	
-		Consignor: Average Weight:	K&T (BMX) 891

Color:		Total Weight:	9797	
Sex:	HFRS	Breed:	кт	
Lot Detail Information				
Sequence #:	105	Lot #:	113	
Pen #:	A13	Consignor:	K&T (RMX)	
Head:	16	Average Weight:	852	
Color:		Total Weight:	13638	
Sex:	HFRS	Breed:	кт	
Lot Detail Information				
Sequence #:	106	Lot #:	114	
Pen #:	250	Consignor:	BLK	
Head:	14	Average Weight:	900	
Color:		Total Weight:	12601	
Sex:	HFRS	Breed:	EAST	
Lot Detail Information				
Sequence #:	107	Lot #:	115	
Pen #:	952	Consignor:	BLK	
Head:	25	Average Weight:	788	
Color:		Total Weight:	19691	
Sex:	HFRS	Breed:	EAST	
Lot Detail Information				
Sequence #:	108	Lot #:	116	
Pen #:	C24	Consignor:	RED	
Head:	8	Average Weight:	879	
Color:		Total Weight:	7030	
Sex:	HFRS	Breed:	WEST	
Lot Detail Information				
Sequence #:	109	Lot #:	117	
Pen #:	240	Consignor:	RED	
Head:	11	Average Weight:	790	
Color:		Total Weight:	8687	
Sex:	HFRS	Breed:	WEST	
Lot Detail Information				
Sequence #:	110	Lot #:	118	
Pen #:	ZA6	Consignor:	ANGX	
Head:	1	Average Weight:	869	
Color:		Total Weight:	869	
Sex:	STRS	Breed:	ANGX	
Lot Detail Information				
Sequence #:	111	Lot #:	119	
Pen #:	Z29	Consignor:	ЕХОТ	
Head:	1	Average Weight:	910	
Color:		Total Weight:	910	
Sex:	STRS	Breed:	EXOT	

Lot Detail Information

Lot Detail Information			
Sequence #:	112	Lot #:	120
Pen #:	Z 62	Consignor:	EXOT
Head:	1	Average Weight:	776
Color:		Total Weight:	776
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	113	Lot #:	121
Pen #:	Z64	Consignor:	EXOT
Head:	1	Average Weight:	651
Color:		Total Weight:	651
Sex:	STRS	Breed:	EXOT
Lot Detail Information			
Sequence #:	114	Lot #:	122
Pen #:	ZC2A	Consignor:	BRIT
Head:	2	Average Weight:	593
Color:		Total Weight:	1186
Sex:	STRS	Breed:	BRIT
Lot Detail Information			
Sequence #:	115	Lot #:	123
Pen #:	ZC11	Consignor:	ANGX
Head:	1	Average Weight:	495
Color:		Total Weight:	495
Sex:	BULL	Breed:	ANGX
Lot Detail Information			
Sequence #:	116	Lot #:	124
Pen #:	Z245	Consignor:	BLK
Head:	1	Average Weight:	466
Color:		Total Weight:	466
Sex:	HFRS	Breed:	BLK
Lot Detail Information			
Sequence #:	117	Lot #:	125
Pen #:	Z141	Consignor:	ANGU
Head:	1	Average Weight:	557
Color:		Total Weight:	557
Sex:	HFRS	Breed:	ANGU
Lot Detail Information			
Sequence #:	118	Lot #:	126
Pen #:	ZC18	Consignor:	EXOT
Head:	1	Average Weight:	689
Color:		Total Weight:	689
Sex:			
	HFRS	Breed:	EXOT
Lot Detail Information	HFRS	Breed:	ЕХОТ

Pen #:	ZC12	Consignor:	EXOT
Head:	1	Average Weight:	500
Color:	_	Total Weight:	500
Sex:	HFRS	Breed:	EXOT
Lot Detail Information	1 1.0	2,000	
Sequence #:	120	 Lot #:	128
Pen #:	Z960	Consignor:	MXD
Head:	1	Average Weight:	813
Color:		Total Weight:	813
Sex:	HFRS	Breed:	MXD
Lot Detail Information			
Sequence #:	121	Lot #:	129
Pen #:	T905	Consignor:	
Head:	1	Average Weight:	756
Color:		Total Weight:	756
Sex:	STRS	Breed:	TAG
Lot Detail Information	- -		
Sequence #:	122	Lot #:	130
Pen #:	T27	Consignor:	
Head:	1	Average Weight:	620
Color:		Total Weight:	620
Sex:	HFRS	Breed:	TAG
Lot Detail Information			
Sequence #:	123	Lot #:	131
Pen #:	T28	Consignor:	
Head:	1	Average Weight:	418
Color:		Total Weight:	418
Sex:	HFRS	Breed:	TAG
Lot Detail Information			
Sequence #:	124	Lot #:	132
Pen #:	T22	Consignor:	
Head:	1	Average Weight:	582
Color:		Total Weight:	582
Sex:	HFRS	Breed:	TAG
Lot Detail Information			
Sequence #:	125	Lot #:	133
Pen #:	T24	Consignor:	
Head:	1	Average Weight:	550
Color:		Total Weight:	550
Sex:	HFRS	Breed:	TAG
Lot Detail Information			
Sequence #:	126	Lot #:	134
Pen #:	T25	Consignor:	
Head:	1	Average Weight:	820

Sex:	HFRS		Breed:		TAG
Lot Detail Information					
Sequence #:	127		Lot #:		135
Pen #:	T23		Consignor:		
Head:	1		Average Weight:		524
Color:			Total Weight:		524
Sex:	HFRS		Breed:		TAG
Lot Detail Information					
Sequence #:	128		Lot #:		136
Pen #:	T26		Consignor:		
Head:	1		Average Weight:		762
Color:			Total Weight:		762
Sex:	HFRS		Breed:		TAG
Lot Detail Information					
Sequence #:	129	Lot #:		137	
Pen #:	ZA18	Consigno	or:	EVANS (BLK)	
Head:	1	Average	Weight:	820	
Color:		Total We	eight:	820	
Sex:	HFRS	Breed:		EVAN	
Lot Detail Information					
Sequence #:	130	Lot #:		138	
Pen #:	ZA30	Consigno	r:	EVANS (BMX)	
Head:	1	Average \	Weight:	830	
Color:		Total Wei	ight:	830	
Sex:	HFRS	Breed:		EVAN	
Lot Detail Information					
Sequence #:	131	Lot #:		139	
Pen #:	ZA11	Consig	nor:	K&T (RMX)	
Head:	1	Averag	e Weight:	865	
Color:		Total V	Veight:	865	
Sex:	HFRS	Breed:		KT	